= A
N = 0 &8 AFH Y & A AN
SA: sYEMY
Mo 0o 49 B N
o4 sgHIAMEA S (e &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
= & ) 25,664,194 22,813,731 2,850,463
=2 306,037 316,947 A 10,910
Xl 8,412,000 8,412,000 0
7l 45,523 45,523 0
[= 1,351,970 1,352,723 AT753
Al 15,548,664 12,686,538 2,862,126
S001o 4o A I 25,591,541 22,744,732 2,846,809
=2 306,037 316,947 210,910
Xl 8,412,000 8,412,000 0
7| 45,523 45,523 0
[ 1,351,970 1,352,723 AT53
Al 15,476,011 12,617,539 2,858,472
SQMA MU A 2E 2,231,086 2,262,874 NA31,788
=2 2,966 12,566 29,600
Xl 200,000 200,000 0
[ 436,738 438,658 A 1,920
Al 1,591,382 1,611,650 A20,268
SN2 U MN2HAH 24 118,804 119,504 AT700
301 Yt A2 5,600 6,300 AT700
09 BALAIH| B a2 5,600 6,300 AT700
O=sYAHR A2AWNE IO AHEZ)
70,0002 » 759 5,250 5,950 AT700
=YAaAY AME X 0 16,000 A 16,000
=2 0 9,600 29,600
[= 0 1,920 A 1,920
Al 0 4,480 A4,480
307 gl12t0l & 0 16,000 A 16,000
=2 0 9,600 A9,600
(= 0 1,920 A 1,920
Al 0 4,480 A 4,480
02 DI B AAIY E X 0 16,000 A 16,000
OsHAAHALE X 0¥ 0 16,000 A 16,000
=2 0 9,600 29,600
[ 0 1,920 21,920
Al 0 4,480 A4, 480
ZOAEXNZ SSF 29 89,992 105,080 A 15,088
201 LBt 87,912 103,000 A 15,088
01 AL 22| H 84,912 100,000 A 15,088
OFUASESTAIY U2 (M AEZ)
84,912,000 84,912 100,000 A 15,088
CEnR #4435 252,681 253,258 N-Y44
=2 112,571 113,881 A1,310
[ 36,560 35,393 1,167
Al 103,550 103,984 A 434
Hs0 dsusg & =sAER MENS AU 3,400 7,400 A 4,000
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2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Hwsz
301 LBrE A 3,400 7,400 £4,000
09 AAH 2 A2 3,400 7,400 ~4,000
O Y=DS OiHl(CIAR)
20,0008 * 253 * 22 1,000 2,000 A1,000
OSAZES HEHNSRSUE ASDF(HAE
2) 50,0002 + 48 2,400 5,400 A3,000
SEHEEY0IE SEAY 54,781 57,358 ~2,577
2 28,571 29,881 A 1,310
= 18,560 19,193 £633
Al 7,650 8,284 £634
201 LEr2 Y| 1,738 8,686 16,948
= 219 5,311 A5,092
= 66 623 A557
Al 1,453 2,752 A 1,299
03 @A ZH| 1,738 8,686 16,948
OSEMEOS 2NN (BSHZ) 0 6,948 16,948
ozg=gl 0! 0 2,000 £2,000
= 0 2,000 £2,000
OE AN 0 0 4,948 £4,948
= 0 3,092 £3,092
< 0 557 A557
Al 0 1,299 A 1,299
307 2I2HOI & 51,171 46,800 4,371
= 27,182 23,400 3,782
< 18,284 18,360 AT6
Al 5,705 5,040 665
02 BIIAMAH R 44,400 46,800 £2,400
O=ZEMHEUS ASE HEXN 44,400 46,800 A2,400
OZMSE 1,320,0008 * 2% * 128 31,680 32,400 AT20
= 15,840 16,200 360
< 15,840 16,200 360
OA NS 1,060,0008 * 1% * 122 12,720 14,400 A 1,680
2 6,360 7,200 £840
= 1,908 2,160 £252
Al 4,452 5,040 £588
06 282 6,771 0 6,771
OSEMENS SN (BSHZ) 6.771 0 6,771
SEEE-TT] 2,000,008 * 1744 2,000 0 2,000
= 2,000 0 2,000
OBEINAXA  851,9008 * 7IHA + 80% 4,771 0 4,771
= 2,982 0 2,982
< 536 0 536
Al 1,253 0 1,253
As0l =IO Ee st X 6,000 0 6,000
< 1,800 0 1,800
Al 4,200 0 4,200
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o9 EsDR By EEREED
SN HH - (EH) - HRAY - BES 0] &b 2 p/E-T HI RS2
402 212t Xt=01& 6,000 0 6,000
< 1,800 0 1,800
Al 4,200 0 4,200
01 2Tt =AEEx 6,000 0 6,000
OAsel SotxEel X
2,000,000& « 3¢ 6,000 0 6,000
= 1,800 0 1,800
Al 4,200 0 4,200
SYUMIIBAIE &S 23,052,491 20,171,077 2,881,414
= 190,500 190,500 0
X 8,212,000 8,212,000 0
S 878,672 878,672 0
Al 13,771,319 10,889,905 2,881,414
SIIBAE RXE=AS 1,721,261 1,620,023 101,238
301 LEE N F 1,238 0 1,238
NJIEEd=s 1,238 0 1,238
(CR=PNE=RamE S 1,237, 130& 1,238 0 1,238
401 AIEHI L 2CHYI 1,568,520 1,468,520 100,000
01 A& HI 1,568,520 1,468,520 100,000
SEUNEST B (ABN BHLZ, 2, B
[ U 900,000, 000& 900,000 800,000 100,000
SYIIEAIE S F ALY 5,781,279 4,621,279 1,160,000
T AIEHI &R 3,881,279 2,721,279 1,160,000
01 A& HI 3,871,814 2,711,814 1,160,000
od4dd 2412l =2 IS AH(L=250m)
120,000, 000& 120,000 0 120,000
OO0 E2l-32l 42 BHl L 52F
& 2 AH(L=550m) 50,000,000& 50,000 0 50,000
©=018 A2 B4 I HI S AH(L=550m)
40,000,000 40,000 0 40,000
O=0l =2 St=+=2 FHI S AH(L=1,250m)
150,000, 000& 150,000 0 150,000
OSaH 2te] =2 FHIZ AH(L=365m)
110,000, 000& 110,000 0 110,000
OsSadH =2l =2 FHIZ AHL=900m)
350,000, 000& 350,000 0 350,000
OYdd 2Zate] tha=2 FHl3AH(L=1,200m)
100,000, 000& 100,000 0 100,000
oO2sg AFel =2 F 42 AH(L=200m)
240,000,000& 240,000 0 240,000
SeIIBAIE |RX2el 154,833 167,658 A2,825
201 L Er2A | 108,833 111,658 A2,825
01 At 22l bl 60,893 61,318 N425
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SA-EY.B(BH) - PN - BES 04l &4 4 p/E-L HI RS2
OSHi=2 FHl FHILX(0LEL)
650,000 * 55CH 35,750 39,000 N 3,250
OFNM=X DAtZ=0 HJ|td 2| =+
== 101,420& ~ 8& 812 0 812
ODAHXNSHEHDONZSE 24| ==
= 251,570 ~ 8& 2,013 0 2,013
02 3324l 47,940 50,340 A2,400
O30S, HANS G+HeAAE DB (0
A E ) 400,000 = 202 * 128 9,600 12,000 A2,400
SHAMX SEEHAEY 5,558,637 5,558,637 0
X 2,771,000 2,771,000 0
S 237,514 237,514 0
Al 2,550,123 2,550,123 0
401 AIEBIL 2 CHEI 5,030,193 5,149,061 A 118,868
Xl 2,771,000 2,771,000 0
< 237,514 237,514 0
Al 2,021,679 2,140,547 A 118,868
01 A& HI 5,017,352 5,136,220 A 118,868
ORESAMA ZSEEHIALY  1,724,388,000& 1,724,388 1,552,413 171,975
Xl 1,374,000 1,374,000 0
S 17,771 17,771 0
Al 232,617 60,642 171,975
OZUHATHX SEEUIAY 1,692,964,000& 1,692,964 1,983,807 A 290,843
Xl 1,397,000 1,397,000 0
= 119,743 119,743 0
Al 176,221 467,064 A 290,843
405 TtakH S| 528,444 409,576 118,868
01 AL ESFH SH 528,444 409,576 118,868
OLLEETM2(JtE) HA3E 2ld/etole 0 0 16,740 A 16,740
ORETNZ(IHE) THASAYXIN(AHL =
&) 0& 0 73,600 AT3,600
OB M2 (JtE) 3@EsYZ ZEH 0& 0 3,300 A3,300
OEZ M2 (Jta) HtZEZRlH 0& 0 2,200 A2,200
OEEZ M2 (JHE) REEAIMNUH 0& 0 2,250 A2,250
OB M (JHE) A2 EH(H) 0& 0 7,200 AT,200
ORET M2 (JtE) ZEA X 300,0008 * 3K 900 2,740 A 1,840
OREEZ M2 (JHE) HZEOI} 0& 0 772 ATT2
ORET M2 (JHE) 58 HHIUH 0& 0 3,087 A 3,087
OREZ M2 (JtE) I=d 2AX 0& 0 11,745 A11,745
OE A2 (Jrd) H&F11(300L)
700,000& * 1CH 700 0 700
OETAN2(0HE) bl A (502 X1)
1,200,000 * 1CH 1,200 0 1,200
OET A2 (OHE) JHHIl arg 0& 0 264 N 264
OEZAN2(IE) =EH 363,000& * 54 1,815 4,356 A 2,541
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Ha: 500 Ho B M
CHel SUMAIIBAIE BE CER-ED
SA BB S (EH) - NEAMY - B 0 4t o4 oI o HRE
CEEEREIPEFIEEE
197,900% * 304 594 792 ~198
ORFEAB(HE) AZHOIE 0! 0 459 459
OFTH(IIE) DS BAEL2SNI 0 0 12,760 A 12,760
ORFEAHB(IE) YLBHY(NAS)
200,0002 * 17H 200 800 A600
ORFEAB(ItE) 32 0ISHE 0! 0 941 A941
ORFTAZ(IHE) TMOBZ2IMH
30,000,0008 * 1CH 30,000 0 30,000
ORFTAHB(IHE) DI =AECH(AZH)
787,0008 * 1504 11,805 14,166 ~2,361
ORFTAB(HE) U BEH O i 0 557 A557
ORHTAB(IIE) DS =ASCH(AZH)
731,0008 * 1424 10,234 23,392 ~13,158
OFETNT(IHE) DS BAEH22NI 0 0 46,656 46,656
ORFTAHZ(IY) SHHHAFX
5,000,008 * 1CH 5,000 0 5,000
ORFETAB(IIE) TEHH 02 i 0 2,346 ~2,346
ORFTAHB(IIE) YLBHN(R2IXE) 02 0 600 A600
ORFTAZ(IHE) PCHMDH(YA) 0t 0 2,700 £2,700
OBUTHE 25 A2 &I 18,020 0 18,020
OAtSRE A (22l Xt) 600,000& = 104 600 0 600
ONREHN (ML) 200,0002 * 47H 800 0 800
CESON 190,0002 * 42 760 0 760
OOlSANEE 200,0002 * 5JH 1,000 0 1,000
OARBOITH(RI2IXH) 500,0002 * 1JH 500 0 500
OANREBATH (AL 300,00020 * 4JH 1,200 0 1,200
OLEl& 500,0002 * 5JH 2,500 0 2,500
OslelgH 012 460,000 * 17 460 0 460
Oslelgol 1t 10,0002 * 634 600 0 600
OMHIR (5EH) 320,000& = 504 1,600 0 1,600
SEX- 250,0002 * 2JH 500 0 500
4 2 2 (500L) 1,000,0008 * 1CH 1,000 0 1,000
r'EL) 2,000,008 * 1k 2,000 0 2,000
=] 1,500,0008 * 3CH 4,500 0 4,500
OLUTAHZ 15 Haa T 460 0 460
OHl0l2 360,0008 * 1JH 360 0 360
SEDY 10,0008 * 1JH 100 0 100
OLUENZ 15 2sDS4 T 7,450 0 7,450
OEgH0E 314,0008 * 1074 3,140 0 3,140
SEDY 10,0002 * 404 4,000 0 4,000
ozelty 310,0008 * 1JH 310 0 310
OFUTHE 15 OISHERA T 71,640 0 71,640
OB5EHA JH(32 = Al) 2,400,002 * 20JH 48,000 0 48,000
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SEEE
g =g &9 2 A
ol SMADIPAIY &E (SHol: @)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
ogg&Hoes 240,000 * 1004 2,400 0 2,400
OZHEAR 100,000& * 3074 3,000 0 3,000
OxEAE(128) 160,000& * 304 4,800 0 4,800
OUsetgdlA3a(MA)  7,000,0008 * 14 7,000 0 7,000
OMNREIH(ARI) 300,000& = 30H 900 0 900
OMHIR (5EH) 320,000& = 24 640 0 640
oz# 250,000& = 124 250 0 250
Of=&(C0E) 3,300,000& = 14 3,300 0 3,300
OPCE M (4]) 675,000& = 204 1,350 0 1,350
CZUEAMNZ 15 Ol Al 2X4 9,440 0 9,440
O4EH A IH(3H EHAL) 920,000& = 8JH 7,360 0 7,360
OztalHIOIE 80,000& * 64 480 0 480
(OFSR=g4 800,000& =« 204 1,600 0 1,600
OBUHENZ 25 EHeld 3,795 0 3,795
OBEHA IH (3 = 4]) 2,515,000& = 14 2,515 0 2,515
OMPEHA(MRI}) 200,000& = 124 200 0 200
OMREXH(ARX) 300,000& = 204 600 0 600
O=ZNE2E &It 240,000 = 2K 480 0 480
OZUE N2 28 dolstsa 11,200 0 11,200
O&s8 My (628) 800,000& * 8CH 6,400 0 6,400
osts& AKX 100,000& * 4824 4,800 0 4,800
OLUHENZ 28 HIIHAH =4 17,458 0 17,458
oggsHo=(628) 800,000& * 2CH 1,600 0 1,600
OZHEEAR 100,000& * 1204 1,200 0 1,200
Ozt 2 MIH(5H 3g) 570,000& = 104 5,700 0 5,700
Ozt 2 MIH(5E 18) 630,000& = 404 2,520 0 2,520
Ou =AM 270,000& * 8K 2,160 0 2,160
OAI (22 &) 713,000& = 64 4,278 0 4,278
CZUEZN2 28 SEAN=A 146,180 0 146, 180
OPCH M (& 4]) 675,000& * 204 1,350 0 1,350
OBEt A IH(3H =4l 2,515,000& = 4004 100,600 0 100,600
OBt M IJH(3H EFAL) 1,100,000 * 24 2,200 0 2,200
OZHEHOZ(62E) 800,000& =+ 4CH 3,200 0 3,200
oggEdnt 100,000& * 2404 2,400 0 2,400
OxItgAE(1208) 160,000& * 30K 4,800 0 4,800
OUEBEHAI(ME)  7,000,0008 * 14 7,000 0 7,000
OMREAXH(ARX) 300,000& = 30K 900 0 900
OMHIR (5EH) 320,000& = 204 640 0 640
oz% 250,000& * 1K 250 0 250
Of=X(C0) 3,300,000 * 14l 3,300 0 3,300
OulZME HAI 1,000,000 * 12K 1,000 0 1,000
O=Ez (gL 370,000& = 1204 4,440 0 4,440
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= HH - (3 H) - HEMY - BdS Ol &F o4 I E M Husz
O=€Es(28) 250,000%1 * 604 1,500 0 1,500
OASE(82) 6000008 * 10H 6,000 0 6,000
OASE(998) 660,0002! * 107H 6,600 0 6,600
OZUEAHZ 25 EHA 5,200 0 5,200
Oglol = 200,0008 * 67 1,200 0 1,200
ool Xt 100,0002! * 2074 2,000 0 2,000
O Z = X30I 8 2000008 * 107H 2,000 0 2,000
ARRa2 AL R 476,500 156,500 320,000
< 31,300 31,300 0
Al 445,200 125,200 320,000
401 Al HI L 2 T 320,000 0 320,000
01 Al tl 320,000 0 320,000
OU+S FUMEX S B4+TAH(0155L2 R
M) 320,000,009 * 14! 320,000 0 320,000
SAMBATHN S8 FH ALY 3,411,575 2,304,575 1,017,000
X 1,678,000 1,678,000 0
= 143,829 143,829 0
Al 1,589,746 572,746 1,017,000
403 RXISHSRE01H 3,411,575 2,304,575 1,017,000
X 1,678,000 1,678,000 0
= 143,829 143,829 0
Al 1,589,746 572,746 1,017,000
02 ZJI B SOICHE R == 04 & AL b 3,411,575 2,304,575 1,017,000
OSMBIATHA S HUIALY (AHIXI}E)
1,017,000, 0002 1,017,000 0 1,017,000
UBHSAOIE AL 40,000 0 40,000
207 1R f 2l 40,000 0 40,000
IEEEETT 40,000 0 40,000
OSZZAN URNT ALHE 2282
20,000,00094 20,000 0 20,000
OFENOS URNT ALHE 222
20,000,00094 20,000 0 20,000
DIHX BIOHEE |22 374,024 128,023 246,001
401 Al HI YL 2 THYI 86,624 35,623 51,001
01 Al H 86,624 35,623 51,001
OUIHA SOHZHOZHE NYEE DSATA
& MR M 21,000,000% 21,000 0 21,000
ONIAX SOHZHOZE HME=
15,208,0008 * 33| 45,624 15,623 30,001
403 RXESHSK=0IH 195,000 0 195,000
02 ZJ12+S Ol C§ 8 KH = & (4 3 AL &4 b 195,000 0 195,000
OUIHA SOZEHOIBRESAY X0}
195,000,000 195,000 0 195,000




SN SYU™H
Mmoo 4o B OHM
& 28 sX2e (=& J)
SN EE B (BH) - HRAY - BES 0l &F 24 o1& o Hl DS 2
EMH8 sklz2el 55,283 57,523 A2,240
J| 45,523 45,523 0
Al 9,760 12,000 A2,240
= Xl 22l 9,760 12,000 A2,240
202 04l 2,560 4,800 A2,240
01 = LH YI 2,560 4,800 A2,240
OsAl2eltl 2,560,000& 2,560 4,800 A 2,240
HZ2F A 72,653 68,999 3,654
Jl= &l 72,653 68,999 3,654
JlEdl 52,283 50,180 2,103
201 Let249] 18,674 20,080 A 1,406
01 At 22l 18,674 20,080 A 1,406
OJl2g2+d gsZd(0a=E2)
9,300,000 9,300 10,000 AT700
ozFHI(Haz2) 9,374,000 9,374 10,080 AT706
202 o4dl 23,840 21,600 2,240
01 = LH o4 1l 23,840 21,600 2,240
OJIZEZH 19,080,000& 19,080 21,600 A 2,520
OEHNHH 170,000& = 4H » 73 4,760 0 4,760
203 YR =&l 7,269 7,500 A 231
01 J|22F PR =8| 3,069 3,300 A231
OJIFEH(4z) (0l aE ) 3,069,000& 3,069 3,300 A 231
405 TtabF S| 2,500 1,000 1,500
01 et ESFHSHI 2,500 1,000 1,500
OMHIR 250,000& = 64 1,500 0 1,500
ol 2AY| 20,370 18,819 1,551
101 @124l 20,370 18,819 1,551
04 D12t 22 HEE = 20,370 18,819 1,551
O=sZ3HFA HANMRAA 2Y 20,370 18,819 1,551
SESE=0] 3,000,000& 3,000 1,449 1,551




